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LISTENING
Task 1
For items 1-10 listen to a passage from a lecture and decide whether the

statements (1-10) are TRUE (A), or FALSE (B) according to the text you hear.
You will hear the text twice.

1. Mr. Green goes to the swimming pool twice a week.
A) True B) False

Task 2
For items 11-15 listen to a dialogue. Choose the correct answer (A, B or C) to

answer questions 11-15. You will hear the text twice.
11. The thief has stolen ...

A) safe.
B) money.
C) jewelry.
READING
Task 1

For items 16-25, read the passage below and choose option A, B or C which best
fits according to the text.

16. According to the text the girl was happy because...
A) she had mother.
B) she had money.
C) she had big family.
Task 2
For items 26-35, read the passage below and choose which of the sentences A—K

fit into the numbered gaps in the text. There is one extra sentence which does not
fit in any of the gaps. Write the correct letter in boxes 26—35 on your answer sheet.
Buddy is my best friend. He was the star of puppy kindergarten and had learned
sixty commands. 26.




) | had to learn all the commands in two weeks.

USE OF ENGLISH
Task 1.
For Questions 36-50, read the text below and look carefully at each line. Some of
the lines are correct, and some have a word which should not be there. If a line is
correct put a tick. If a line has a word which should not be there, write the word on
your answer sheet. There are two examples at the beginning (0 and 00).

0 The blue whale is the largest animal that has ever lived. \
00 | A fully grown one can be more than the 100 feet long. the
Task 2.

For items 51-60, complete the second sentence so that it has a similar meaning to
the first sentence, using the word given. Do not change the word given. Use from
three to five words. Do not use short forms. Please mind both grammar and
spelling. There is an example at the beginning (0).
The pool isn’t deep enough to swim in. too
The pool ............... swim in.
|0 |is too shallow to |

Task 3.
For items 6170 read the text below. Use the word given in capitals at the end of
each line to form a new word that fits in the space in the same line. There is an
example at the beginning (0).
| This is due to their energy-saving system of (0) in drafts. | FLY |

10 [flying |

Task 4.
For items 71-80, match items 71-80 to the phenomena (A-L). There are some
extra phenomena which do not match.
the Earth | the star at the center of the Solar System.
the Sun ) the third planet from the sun and the fifth largest in the solar
system.
Sample answer: 1 - B, 2 — A.




